Ul ) VCC 5 TOUP / |+ VICC
P10 e voc |49 il | 10K  —pB4 | RS s
PI1 2 39 P00 1 — L—HooK 100K
T2EX/P1.] PO.0 .
P12 3 16 PO il
P13 G PO.1 =57 Po2 g —
— PI.3 PO.2 =L
LCO1 LCO'™MO2 . P14 5_ |1, o7 ot 18 __Pad S
P15 ' 2 735 Po4 6
r_|' ' |’ cYcC P16 ? P15 POA =503 7
10uvF ~ PI3 g | P16 F0.5 Fon P08 8 Esy
2 FOO I Po7 3 et
B PIO 0 |tes POl ]
o —— RXD(P3.0 BAM 5 lvee
i T — = TXDVP3.I ALE [,
okL__P12 > INTOIP3.2 PSENV |—
P11 3 28 P17 .
J SR =—{ INTINP3.3 P27 =12 P
> 2 oisEsie o TOT3.4 P1.6 (. P36 & >
o XXX PI5 E 26 P15 > -
SPIWBBBRIREE B <2 PI6 . me———— | [ UBS L5 = (T BI5 =E=ls e
=l . — Pl6 > = —5—1 WRAPI6 P14 71— - 5 e
~|=|o |o|=]~|~]=]||o] GND CbPND ————————{ RDVP37 P3| —r =
| = | - 5 XTAL2 P12 5= w 732 $
290E XTALI P2.1 < P21 A A > VCC
o L1 Ll =1 [ m B —--—20 GND PLO L PJO 4 P20
EEEEEE@E C9 12MH | ' & VCC skl
| = STCIMIOSEAC -
T I GND
I VC& GND « 22pF —X = AL ] RT1
|‘|'GND VCC 2 & = = CX B NTK
= | 3| 52 5 - CeX INT 2 K T
bl ] : [ = CS | Co — Fo |
DC1 2 2 R = . LX PO = == l s < B
- : — 2 GND KI5 JINIT —
@] 3 | ] ~T~ 470UF 0K b - 2=
N &
DCO005 ' - 5
LED1
SZ\:« SK1 C1 . Shl. & P15 | K&I
1 (o 14 1 INT_|
SW2H —t_ T (2B e TK IN3 I o
INT 2 5 _05 GP:[D SW2ZC 2 3 2 ¥ RD VCC .
6 INT 1 9 (o 411 - >
2 6 14 INT 9 5 10 SWO ; X
INT 2 7 14 10 510 K 6 _
N T < diger LS B I R A 5 > IR — 100R 02
5L < PoB o L | [l o 7S {__PI16 T P = 4 |— VCC 9014
RSQ5 JINIT P26 12 = il ) — l>GND
- IC 1aP !
I(SJS_JP\ITGND Sleloll :I' P10
GND PS =

GND



